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008 | 5 4 Hr 849 972 1,114 2,086
009 [ K f& H 965 177 761 1,538
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012 [ /H 877 1,124 1,281 2,405
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015 | # B  H 123 159 183 342
061 | XEHET—TEH 50 50 21 71
062 | XFEHEZTBH 217 190 189 379
063| XEHE=TH 6 30 48 78
064 | XFEHEMTH 109 107 154 261
071 | £HFAHEI—TH 36 28 41 69
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083 | A BT = T H 161 182 201 383
091 | QLB —TH 87 87 110 197
092 | BT —TH 82 165 350 515
101 | P ET—TH 129 114 133 247
111 | FEHE—TH 111 113 126 239
112 | FSHEZTH 90 69 82 151
113 | FEHE=TH 139 129 132 261
114 | FHEHEMTH 85 96 104 200
115 | FEHEATH 147 113 160 273
116 | EFSHHEIATH 153 137 157 294
117 | FSHEETH 138 150 172 322
118 | EF&HHE/NTH 138 140 154 294
121 | EBFHE—TH 79 76 78 154
122 | ERBFHIZTH 52 54 57 111
123 | EBFHI=TH 82 83 97 180
124 | EBFHIUTH 75 72 63 135
125 | EBFHEATH 99 100 116 216
126 | EBFHEIATHE 150 125 139 264
127 | EBFHETH 141 94 160 254
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